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Example Candidate Responses — Paper 3

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Business, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2023 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

9609 June 2023 Question Paper 32

9609 June 2023 Mark Scheme 32
9609 June 2023 Insert 32

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 3

How to use this booklet

This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high Examiner comments

R ' i i ‘ to-sell successfully to .
1 Analysetwo elements of OV's marketing strategy fhat will need to change y o The candidate shows some

retailers.

understanding of a marketing
o strategy in the opening sentence. It
o5 08800, 0. xONQVE. ... RS HNg,. QLR eiNEZ T can be useful to start an answer with
a definition of a key concept used in
the question as this can help focus
the answer on relevant business

- .

A (Y\O\W@-b\(\g)&%egyis e \ong, —\:smx?‘cnﬂ .............

\5'\3~e,?r\civ‘97}b.&whnv‘&5\,%wbm SN2, | content. There is 1 mark available
Yosyatk.... ok Qs O Qv@gyycwm (R \ XS for AO1 for providing a definition.
?, Examiner comments explain
Responses are written by real candidates in exam L where and why marks were
conditions, demonstrating the types of answers for awarded. These help to
each level. These could be used to discuss and interpret the standard of
analyse the answers with learners in the classroom to Cambridge exams to help
improve their skills. learners refine their exam
technique.

N J

How the candidate could improve their answer

» This was a well-structured answer demonstrating effective use of the case material and the candidate clearly
identified two elements of the marketing strategy to change. The use of separate paragraphs for each point greatly
increased the chances of each point being recognised.

This section explains how the candidate could
improve each response. It helps learners to improve
their exam technique.

Common mistakes and guidance for candidates

+ (@) Definitions should be precise without any need for explanation. Many candidates were awarded 2 marks for
this question. Answers frequently referred to the amount that a customer is willing and able to buy. ‘Amount’ was
acceptable as an alternative to quantity. Reference to specific price or specific time was needed to earn the second
mark.

» (b) The candidate needed to state one factor that influences supply. If several factors were stated, only one of them
would be marked. The explanation needed show how the factor will influence supply and candidates needed to
give a clear explanation of how that factor would increase or decrease the supply. An example of a vague answer
would be, ‘A change in weather conditions might increase or decrease supply’. This answer would be awarded 1
knowledge mark for the reference to the change in weather conditions.

This section lists common mistakes as well as helpful
guidance from the examiner. This will help your learners
to avoid these mistakes. You can use this alongside the
relevant Examiner Report to guide your learners.
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Question 1

Example Candidate Response — high Examiner comments

1

Analyse two elements of OV's marketing strategy that will need to change to-sell successfully to
retailers. '
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0 The candidate shows some
understanding of a marketing
strategy in the opening sentence.

It can be useful to start an answer
with a definition of a key concept
used in the question as this can
help focus the answer on relevant
business content. There is 1 mark
available for AO1 for providing a
definition. However the focus of the
question is to analyse two elements
of the marketing mix that will need to
be changed. Therefore, candidates
may prefer to start by identifying an
element and then analysing it.

The candidate identifies an
element of the marketing strategy
that requires change and adds
context by noting that OV sells its
yogurt at premium prices. They
include an analysis of why the
pricing should be changed by
recognising that the retailer is not
the final recipient of the product, so
OV will need to reduce their price to
attract retailers.

€@ The candidate makes a link to
the rising competitiveness within the
industry as another factor behind
the need to change the price. This
is a good contextual point. However,
the argument relates to changing
the same element of the marketing
strategy and no further AO2 mark
can be awarded as there is only one
application mark for each element of
the marketing strategy considered.
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Examiner comments

Example Candidate Response - high, continued

.............. Anesnes. e S oeeds Lo, e Anenged.....

- ” .

B oo .. MREWE, .. Socien . n0Sdien. .. OO MET L

@ The candidate identifies a
second element of the marketing
strategy that needs changing and
this is in context as they include a
relevant comment about OV’s use
of social media. The analysis is not

developed, and the candidate does
not show two or more links in the
chain of reasoning.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 4

Nkl oS, o SO\ WS NVoBAGE X

............. [8]

Total mark awarded = 6 out of 8

How the candidate could improve their answer

» This was a well-structured answer demonstrating effective use of the case material and the candidate clearly
identified two elements of the marketing strategy to change. The use of separate paragraphs for each point greatly
increased the chances of each point being recognised.

* The candidate was awarded full marks for AO1 and AO2. However, for both suggested changes to the marketing
strategy, their analysis was limited to chains of reasoning with only one link. Developed analysis requires further
links to be made showing cause and effect. For example, the candidate identified advertising on television as a
possible change and could have given a more developed analysis by observing that ‘promotion on TV would build
the brand name of OV thus attracting consumers and therefore making it more attractive for retailers to stock OV’s
yogurts due to the increased levels of demand’. This would have been awarded Level 2 AO3.



Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

1 Analyse two elements of OV’s marketing strategy that will need.to change to sell successfully to
retailers.
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The candidate’s definition does
not show sufficient understanding of
the marketing strategy concept.

9 The candidate suggests a
change to pricing with the implication
that a lower price is needed so

that retailers can still make a profit.
The link to profit provides limited
analysis.

e The second change links to
promotion and recognises that
securing good shelf placement is
relevant to success. As this is about
selling to a retailer, shelf placement
provides context.

@ The candidate attempts to
develop some analysis, but there
is no clear chain of reasoning as
to why there is a need to promote
the business in the location of the
retailer.

e The candidate repeats the two
elements of the marketing strategy
they have already identified, so this
adds no value to the answer.

Mark for AO1 = 2 out of 2
Mark for AO2 = 1 out of 2
Mark for AO3 = 1 out of 4

Total mark awarded = 4 out of 8

How the candidate could improve their answer

» The candidate needed to develop their chains of reasoning further. They made a statement about needing to
promote the business in the location of the retailer without explaining why this is necessary.

+ Candidates should aim to include context with each point made. There was one application mark available for each

change to the marketing strategy identified.




Example Candidate Response — low

1

Analyse two elements of OV’s marketing strategy that will need to change to sell successfully to
retailers.
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Examiner comments

@ The first paragraph repeats
information from the case study
without indicating its relevance to the
question. To be awarded the mark,
the context requires more than just
the repeating of case material.

9 The candidate refers to the need
to ‘focus on making the product
more affordable’ which links to

the reference to premium pricing.
Therefore, they show contextual
understanding of a change to the
marketing strategy and analysis is
shown by arguing that the product
being more affordable will create a
larger demand.

@ The final paragraph does not
identify a second change to the
marketing strategy. The candidate
clarifies that a lower price will attract
new customers but makes no link to
retailers. This does not add to the
understanding and analysis already
shown.

Mark for AO1 = 1 out of 2
Mark for AO2 = 1 out of 2
Mark for AO3 = 1 out of 4

Total mark awarded = 3 out of 8

How the candidate could improve their answer

The candidate needed to focus on the question. Their answer repeated a significant part of the case material, but did
not demonstrate how the information relates to the question. Each paragraph should relate to the question.

Common mistakes and guidance for candidates

Repeating parts of the case material word for word without providing further development to show why the text is
relevant to the question does not provide context. Application requires the candidate to use case information to

support the answer.
Candidates needed to make two applied points for Question 1.

Candidates should use separate paragraphs to give a clear demarcation between the two points being made.

Candidates needed to define the key business concept at the start of their answer to help its focus and
demonstrate that there was understanding on which subsequent points were based.

Candidates needed to analyse each point they made. They could show developed analysis by making two or more

links in their chain of reasoning.
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Question 2

Example Candidate Response — high Examiner comments

2 Analyse two benefits to OV of the methods it uses to communicate with employees. a A definition of effective

\ communication provides the
foundation for answering how

OV benefits from its methods of
communication. The candidate
also gives a generic comment on
types of communication including
verbal and face-to-face. However,
there is only a maximum of 1 mark
for AO1 for providing a definition
of communication and types of
communication.

@ This paragraph shows good
exam technique. The candidate
identifies a benefit of OV'’s
communication method (employee
satisfaction) and develops limited
analysis of the outcome (higher
productivity). The candidate also
links the weekly meetings with
factory workers to an outcome

of yogurt production, thus
demonstrating context. However,
the analysis is not developed as it
does not show two or more links in
the chain of reasoning.

e The candidate understands
that two-way communication is
effective. Developed analysis is
evident as the candidate links two-
way communication to employees
being able to discuss if they have
any questions. This results in tasks
being carried out correctly which
reduces waste and may increase
profitability. More than one link in the
chain of reasoning is evident so the
candidate can be awarded Level 2
AO3. Context is provided because
the benefit the candidate identifies
links to OV having an open plan
office.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 3 out of 4

Total mark awarded = 7 out of 8

10
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How the candidate could improve their answer

This was a well-structured answer with points clearly separated. The candidate demonstrated good knowledge of
communication and they provided contextual analysis of each benefit.

The language used throughout was business centred with reference to ‘effective communication’, ‘communication
channel’, ‘motivation’, ‘productivity’, ‘two-way communication’, ‘reducing wastes’, and ‘profitability’. It was a very
compact, but effective, answer.

For the first benefit, the candidate could have developed their analysis further by linking higher productivity to either
the impact on unit costs of production or potential sales of yogurts.

1
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Example Candidate Response — middle Examiner comments

2 Analyse two-benefits to OV of the methods it uses to communicate with employees. - (‘(\QJSc.,cje
. [ICIEL VN \
om0 CAnNn. LS. .. e Sk COMtucr. oetwmen.. 2enthe:. S5 . deerut ™

SCommaniccm OO0 1DLteen. T Resse. A NeyrD)
QOO DLaNLcS... ofevzc\j\)wmﬂocbw&\eﬁs @ @ Although these opening
LAS. N S ceaia® S 000 e Rneniae L BN Q\aMe S sentences do not give any

- ) context or identify any benefits
Qg Lenef . £O.. OM.. Lo, Connnnuntcoxsion of communication, the candidate
Lot es m.p.mxjf_es.....x.S...ﬂ:b.at.....a\\ng aga..em l?k\geef partially defines the term.

Aol neand. and . n.ghes. them.. Q. setf..of.. - | The second statement lacks

Secuninsg Ihe.. Lo, Doon. OO0 MLesl. . smira developrpen.t and is vague as to why
~J communication between managers

ARADCH AR O OULCH. SHEL R A0 VLSS, and owners is vital.
AORRCOMOOAN.. LLOHAML.S... Do TR Fow...give S... @ The candidate uses the context
W\Q.QM(\LDBQQSO#ﬁQQQX,QQ‘(\O—QC# \Qr\A AOC.. S of how Aluna meeting with workers
..... Can. 0088 Tne.. moaivenon.. of. Hos . esaployees. every week can result in more

ROeNLL. Dol £0.... ON...Qf. Hhe. saeried motivated employees. However,
they do not develop this benefit
into a consequence for OV such
as increased productivity or an
Fook L nodg. o er....m.@.‘f_r@s.@m&mﬂ...thi.s.....rmt..&n&.\ﬂ. e improvement in quality of output.

RV ON S RGN DL T DAODR. AL I HL. a0 PloRe e The candidate identifies

...;L.);\S_.Q%Q..‘m.@{m...,_C;Q.M(\’xmmiﬁc&ﬁ&)ﬂ....m.\k\(\....:.Q..W.\.\):\_Wj:e.e.,&..r.\s....
‘khsx—(l\——masjde@e cue. e fevet. ol Proohe ms

L A Comnd checteaie. ek Laon. BaCaes a second benefit of OV'’s
SRS sthey. £e£.5..000eC A0 ... o . N8 FOLE... QN communication as a reduction in
ave.  or 8N — Ol . N . Vow labour turnover, linked to the context
""""" ‘ e g QW‘QQ\%“BMM of an open plan office making Aluna
-QOSs\jC\C(.QSS;b&L ...... S he\ﬁ-@f.t’i‘&) ..... SQ&\IQ_QO}j more accessible to emp|oyees_
e ASS0S OGN ST O 0N, SN SReeg However, the candidate does not
e S eoadlagee rooiniag. Shows. thar. tasy. @ analyse this benefit.
AR, 0010 FRLAgNISeeh.. B @ The reference to OV winning an

award for training does not relate to
the question about communication.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 0 out of 4

Total mark awarded =4 out of 8

How the candidate could improve their answer

» The candidate's commentary needed to be more precise, and give support to the statements made. The comment
that communication between owners and managers is vital was an evaluative statement and attempts to
demonstrate AO4 were not necessary (or awarded marks) in this question.

» Although there were 4 marks available for analysis, this answer did not develop any chains of reasoning. The
candidate effectively demonstrated understanding in context, but needed to link points together to show their
analysis of the benefits.

12



Example Candidate Response — low

2 Analyse two benefits to OV of the methods:it lises to communicate. with employees.

VS e L —
..... (wdds\'\qs'v»s\cumk¢msf$wﬁ3a
C—&ms&....; ........ k... \M‘S BAMNS oo evaeeersess st ssss st st st bt

o) lgheus o An L Maeic Suejcsh'::\‘\s-\_ke. ...... COMAPSAAY. .
NS S PGSO G~ VE TSN =i, T S ¥ N,
Lealovos | A\eeuwn <o ConaAasAaL cead o WL el

‘-J¢t\"-\\.3 ...... B YT
-&ouw\-sca?&su*mwm&()mb\e.,u«s

Z

AASSE i AT ] Lorctons. oo wisbh 088 \M?GF*QW'% ..........

Aeb L sissetisSeastio.

WS Ve town,

A o ofess

Example Candidate Responses — Paper 3

Examiner comments

° The candidate’s reference to
the company having a democratic
leadership style and offering good
hygiene shows no understanding of
communication or its benefits. This
first sentence is not focused on the
question set.

@ The candidate begins this
paragraph by repeating case
material of how OV communicates
with employees. However, they
show relevance by commenting
that this is a democratic style
which will boost employee morale
by giving employees a say in
operational decisions. This links

to communication and therefore
shows understanding of a benefit in
context.

Q The rest of the answer drifts
from communication to commenting
on the ‘good hygiene’ offered by OV.
The candidate offers an analysis

of the benefit of this approach, but
as the argument is not linked to
communication methods no marks
can be awarded for the paragraph.

Mark for AO1 = 1 out of 2
Mark for AO2 = 1 out of 2
Mark for AO3 = 0 out of 4

Total mark awarded = 2 out of 8

How the candidate could improve their answer

There was limited time in this exam to answer all the questions, so it was essential to focus on the question asked.
The candidate included an introductory comment that did not demonstrate their understanding of communication or

make any relevant points.

Candidates should avoid copying from the case material as this can result in a failure to develop context. They

should always aim to use the case information rather than repeat it.

The answer drifted from the question. It was not focused on communication and returned to the issue of Herzberg’s
hygiene factors which the candidate referred to in their introduction. This demonstrated a lack of understanding
of the scope of the question. Overall, it is evident that the candidate did not have a clear grasp of the role of

communication in a business.

13



Example Candidate Responses — Paper 3

Common mistakes and guidance for candidates

+ Many candidates did not make effective use of the case material and just copied parts of the text without linking the
information to the question.

» Candidates needed to make two applied points for Question 2.

» Candidates should use separate paragraphs to give a clear demarcation between the two points being made.

+ There were 4 marks available for analysis in Question 2 and it was therefore essential to develop chains of
reasoning focused on developing how communication benefits the business. Many candidates made only one link
in their argument and therefore remained at Level 1 for AO3.

» There was no need for evaluative comment for the 8-mark analyse questions.

14
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Question 3

Example Candidate Response — high Examiner comments

3 (a) Referto Table1.1. Calculate, for 2023, the current ratio. o The candidate’s answer of 0.75
.......... I rvrerneeTerinene et Be e Fre e Do Th B e is correct. However, the current ratio
, 0 should be stated as 0.75:1
CUM(\'\'on.hmbe.so ; S
- Mark for (a) = 1 out of 1
(b) Refer to Table 1.1. Calculate, for 2023, the return on capital.employed (ROCE). 9 The candidate states the
A . o . e correct equation for return on
wreves 8 = geootin :‘ .00 X. 0! eefransessessreseistetetonenansasnanseasnesansnee capital employed (ROCE) Capital
R, s ;m@ﬁrn.&.,&mn‘pmx&e.d... . et employed is calculated and used in
L the ROCE equation and they are

awarded full marks.
TSSOSO SSONY S FI. SO '.j;x...i,m, S ALLYS 2 e 9 ........... Mark for (b) = 3 out of 3
............................ ot Ledo. e .. | @ Changing to a public limited

company is identified as a source
detekessbuse s ame Lt e AR LR R e RS SR e e AR SR ebe of finance for OV for its expansion
....... — plan. This is sufficient for AO1 and
....... | AO2 marks.

(c) Evaluate whether shareholders will-benefit from OV changing-to a public limited company. o The candidate understands
s P . that further borrowing with a high

............ Ahanholdass. MU bRLERE F0. 0N QN e RO G R0 G A0 B gearing ratio of 69 % would make

.{;.\LhL{(‘.....(.Lmﬁ:&d....r.um.().ck,més....LbMSL....&...b.LL&-...&D.\.&NTc,Q.f..oLP:....«EKmaﬁ.tﬂ.« ........ OV riskier. This is evidence of
context and knowledge even though
they do not explain the nature of
risk. However, the candidate then
AR T AL AR LS AL b2 TRUS e QA s S DO develops a limited analysis by
arguing that production capacity

mbvmWW\ommm&%iFa—wN\smﬁommm .............. ) o
o 0 could be increased through issuing
...M.?.Q:.\Smm../u....\l\rh\tﬂ.\...MJM ..... e O\ mmmﬁeﬂnst.% ...... shares without increasing the
..... =N cm....l?t....H.&(:c,g.d.%...:,..fi........(...(:.ﬂ.flo....u..une.q:t....%w.ci!.\.g....C.L‘s-,ﬁ?p. L iling, gearing ratio as shareholder finance
, ' is permanent. This is implicitly linked
hasg g S0 o guhile..oaoild.oroud . 2 amagnent..capmal. ok .
! e ¢ e to a benefit to shareholders due to
..... C\D.E.s.cx_f.t....w.....{‘.‘.‘?....‘):C«....‘).cudx.....Jac\,_L,t..J....S.n.....D.V....wM..:{:hun....-!?!{Zm... avoiding risk.
. . . . N P y
e .‘r.\g:cz,a.s.e,...Q.\:ﬂdumnn.:.,@;\m.(,ﬂ?.\é..M'-X:M'L_uc...S%e,oa.n.q.%...\r.\cc‘e.u.ﬂ.m%...Wn%.r&hﬂ. e The candidate makes a simple
RO E ML M U0 M D A0 S5 i dom oL 0. judgement that this ‘would only work
if there is high demand to buy OV’s
..... Bty QML S SRR S B G s i D s S e DL D s s Yy
3 o S share’. Candidates should aim to

add this sort of evaluative comment
throughout their answer as half the
marks are for evaluation on the
12-mark questions.
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Example Candidate Response - high, continued

Examiner comments
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The candidate shows further
evidence of knowledge and
application as they consider a
disadvantage to shareholders
of issuing shares. However, all
AO1 and AO2 marks are already
awarded.

@ The candidate gives a limited
point of analysis in linking the issue
of shares to a loss of control for the
current shareholders.

@ The final paragraph begins with
a limited ‘it depends on’ judgement,
but the candidate does not develop
this point.

The candidate develops their
analysis to Level 2 by linking the
need to pay out an increased level
of dividends (due to there being
more shares) to a reduction in
the amount of money received by
shareholders.

Contrasting the short-term
impact with the long-term impact
is an effective approach to making
evaluative comment. However, in
this answer, the candidate does not
develop their judgement of short
versus long term.

The candidate provides an
overall judgement which is in the
context of raising the finance to
undertake expansion plans. This
is developed evaluation as the
candidate highlights that expansion
can increase profit which could
then result in higher returns to
shareholders.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 2
Mark for AO4 = 6 out of 6
Mark for (c) = 12 out of 12

Total mark awarded = 16 out of 16
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How the candidate could improve their answer

+ The candidate could not have improved their response as all parts received full marks and they demonstrated good
exam technique throughout.

» Calculations were systematically set out showing formulae and method to maximise the chances of being awarded
marks.

* The extended answer demonstrated understanding of key terms and remained focused on relevant contextual
analysis which linked to the impact on shareholders of OV becoming a public limited company. Effective links were
made throughout the answer, for example, when the candidate commented on the gearing and OV’s need for
$10m. There was good use of business terms such as recognising that share capital is permanent.
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Example Candidate Response — middle Examiner comments

3 (a) Referto Table 1.1. Calculate, for 2023, the current ratio.

CoNenk_0sseke 2.6 = 554
....... cossent. Naonines. O-% @
1]
(b) Refer to Table 1.1. Calculate, for 2023, the return on capital.employed (ROCE).
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The candidate gives the correct
answer of 0.75:1.

Mark for (a) = 1 out of 1

@ The candidate states the
appropriate equation for ROCE and
the candidate calculates capital
employed as 10.2 (m). However,
they make an error in the final
calculation, so give an incorrect
answer. This demonstrates the
importance of showing method as
simply stating an answer of 2.94 %
would not be awarded any marks.

Mark for (b) = 2 out of 3

e The candidate understands that
shares in a public limited company
can be bought and sold on the stock
exchange.

@ The candidate repeats
information from the case. They do
not attempt to explain the relevance
of the current distribution of shares
between the directors, so no marks
can be awarded.

@ The issue of Aluna and directors
possibly losing control shows
contextual knowledge.
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Example Candidate Responses — Paper 3

Examiner comments

Q Raising capital is identified as
a benefit of issuing shares. The
candidate comments that OV would
be able to pay off its debts and
reduce gearing. However, they do
not link this to shareholder benefit.
The answer should remain focused
on how issuing shares will impact
shareholders.

e The candidate recognises
that the share issue could
provide finance for expansion
and that increased profits could
result in increased dividends for
shareholders. This shows limited
analysis.

e Linking the share issue to
providing finance for the new
distribution channel is sufficient for
AO2.

@ The candidate adds further
examples of how the extra finance
could be used by OV. These points
are neither developed nor linked

to shareholder benefit so do not
answer the question.

@ The candidate attempts to make
a judgement. It is limited and lacks
focus on the shareholders but is
sufficient for Level 1 AO4.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 1 out of 2
Mark for AO4 = 1 out of 2
Mark for (c) = 6 out of 12

Total mark awarded =9 out of 16

How the candidate could improve their answer

The impact of becoming a PLC on shareholders was not developed and the answer remained at Level 1 for AO3.
The candidate could have developed more fully the benefit of OV’s expansion to current shareholders. Although
the candidate linked higher profit to higher dividends, they did not build their argument as to why there were
increased profits. The analysis was incomplete and there were missing links in the chain of reasoning.

The focus of the answer needed to be about the benefits to shareholders of going public. However, the candidate
frequently made points which were not linked back to the shareholders, such as using the capital to finance better
marketing, or allowing OV to pay off its debts and reduce gearing. The candidate needed to demonstrate how

these points would benefit shareholders.
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Example Candidate Response — low

3 (a) Referto Table 1.1. Calculate, for 2023, the.current ratio.

...... Custn: cwhrom - Cureny ks

B lAwL\lAku ..........................

”,be——-v 0:19.7. /4?7’50,’000 !
4 oY | T
(b) Refer to Table 1.1. Calculaté, for 2023, the return on'¢apital-employed (ROCE).

(c)} Evaluate whether shareholders will benefit from OV:changing to:a public limited company.

OV......Cnans mgmmo\@nm& Lwniitd. . do
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Examiner comments

a This is an incorrect answer as
the percentage sign is included. The
current ratio is not expressed as a
percentage figure.

Mark for (a) = 0 out of 1

e The candidate gives the correct
formula for ROCE and is awarded

1 mark. They give no indication

of where the figure for capital
employed is derived from and no
further marks are awarded.

Mark for (b) = 1 out of 3

@ The candidate starts with an
adequate definition of a public
limited company.

o This is applied as the candidate
identifies that the change to a

PLC will provide the finance for
OV’s proposed expansion to sell

to retailers. The second AO1 mark
cannot yet be awarded as it requires
knowledge of an impact of becoming
a PLC on shareholders.
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Example Candidate Responses — Paper 3

Examiner comments

The candidate shows limited
analysis that an increase in sales
will benefit shareholders as OV
will be a bigger and more valuable
company.

@ The candidate identifies

an increase in share price as a
benefit and although the candidate
refers to stakeholders rather than
shareholders, benefit of doubt can
be given and AO1 awarded.

e The answer loses focus on the
question which is about the benefit
to shareholders of going public. This
chain of analysis is about increasing
market share and efficiency. This
could have been linked back to
shareholders by considering the
impact on profit and therefore
dividends.

@ The concluding sentences
do not provide sufficient evidence
of evaluation to gain any AO4
marks. The candidate identifies a
disadvantage that current owners
will keep less equity; however,
the final comment is too vague

to provide balance so cannot be
awarded the marks.

Mark for AO1 = 2 out of 2
Mark for AO2 = 1 out of 2
Mark for AO3 = 1 out of 2
Mark for AO4 = 0 out of 6
Mark for (c) = 4 out of 12

Total mark awarded = 5 out of 16

How the candidate could improve their answer

» The candidate needed to show how capital employed was calculated.

+ The candidate showed adequate understanding of terms such as PLC. This was linked to OV’s plans to expand
and the shareholders benefit from a more valuable business which provided limited analysis. This point was
repeated, but with reference to the share price. However, the analysis was not focused on benefits to the
shareholders as the commentary then explained how market share will increase and costs will be decreased
attracting more consumers. The candidate needed to link this back to shareholders to be awarded further marks.

» Aconclusion requires a judgement with supporting evidence. This candidate just states that the benefits of shifting

to a PLC ‘overlap’ the disadvantages.
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Common mistakes and guidance for candidates

The current ratio needed to be expressed as a ratio, i.e. x:y.

Many candidates knew the formula for calculating ROCE, but did not know how to calculate capital employed.
There were 8 marks available for calculations in this paper which was just over 13 % of the total mark, so it was
important to learn all relevant formulae.

Understanding of business concepts provides the essential building blocks for answers. Some candidates
commented that a change to a public limited company involved the government taking control of the business. This
demonstrated a fundamental misunderstanding of the concept.

Many candidates wrote at length about the impact on the company of becoming a PLC without considering how
shareholders might be affected. Answers should focus on shareholder concerns such as control, share value, and
dividends. Candidates should focus on the impact on existing shareholders and consider their likely objectives. In
this case, the major shareholder had control of the business and the extent to which this control might be lost could
be very important.
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Question 4

Example Candidate Response — high Examiner comments

4

(a) Refer to Table 1.3. Calculate, for location X, the accounting rate of return (ARR).
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0 The correct formula for the
accounting rate of return is stated.
Annual profit of $2m is calculated.
However, the candidate uses the
capital cost of the investment
rather than calculating the average
investment. This is an error in
method as the residual value should
have been added to the capital cost
and then divided by 2. So, the final
answer of 20 % is incorrect but the
own figure rule applies, and the
candidate is awarded 3 marks.

Mark for (a) = 3 out of 4

9 When faced with a table of data
to use, it is common for candidates
to repeat some or all of the
information without any comment.
The candidate cannot be awarded
for this first paragraph as the
information selected has not been
used in any way.

e With quantitative data for

two options, candidates can be
awarded AO2 marks by making

a comparison. The candidate
observes that the factory at
location X can be completed four
months earlier than location Y. The
candidate suggests that this will
help OV to make a profit faster.
This demonstrates understanding
of a relevant factor in the decision
(time) for AO1 and a possible
consequence (profit) for AO3.
Analysis is only at Level 1 because
there is no attempt to develop the
point further.
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Example Candidate Response - high, continued

Examiner comments
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The candidate moves to the
next factor using data from the
table. Lower factory wage rates for
location X (AO2) mean lower costs
(AO1). They make further limited
analysis of the impact of location X
not having skilled labour, noting that
special training would be needed
and that would be costly. At this
point the analysis is still at Level 1.

e The answer structure of taking
information from the case and
showing its relevance is repeated
with reference to availability of
skilled workers in location Y,

high wages in location Y and
capacity utilisation. In each case,
the candidate’s analysis remains
undeveloped and the answer does
not move to AO3 Level 3.

The candidate makes a
supported judgement that location
X is preferable by highlighting the
difference in the accounting rate
of return and explaining how lower
wages will help OV to finance the
training of the employees. This links
back to the candidate’s observation
about incurring extra costs in the
short run, but location X having long
term benefits.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 1 out of 2
Mark for AO4 = 5 out of 6
Mark for (b) = 10 out of 12

Total mark awarded = 13 out of 16

How the candidate could improve their answer

+ The candidate needed to use the formula for calculating the accounting rate of return as stated in the syllabus. This

included a step of calculating the average investment.

» Although the candidate appeared to start the answer to (b) directly by referencing two factors from Table 1.2, there
was no explanation of how the chosen points help answer the question. It is important to show relevance of any
selected information. This could be done by explaining whether it supports one location rather than the other.
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Although this was a more successful response that demonstrated understanding of a range of factors influencing
the location decision, the candidate could better focus on developing their analysis. The answer tended to identify
a factor and then provide a short, limited analysis before moving on to the next factor from the table. Multiple
comparisons were made, but none showed Level 2 AO3.

The candidate should provide evaluative comment earlier in the answer as 50 % of the marks were for evaluation.
This could be done by providing a judgement about how important a particular point was to the decision.

The conclusion was in context and provided a supported judgement making use of short run versus long run
benefits of the chosen location. This was sufficient for Level 3 AOA4.
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Example Candidate Response — middle Examiner comments

4 (a) Referto Table 1.3. Calculate, fo(clrocation X, the accounting rate of return (ARR).
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° The candidate does not use
the formula given in the syllabus for
calculating the annual rate of return.
The initial investment figure is used
rather than the average investment
figure, leading to an answer of 20 %
rather than 25 %. The own figure
rule applies, and the candidate is
awarded 3 marks.

Mark for (a) = 3 out of 4

e The candidate immediately
identifies a relevant contextual
factor in their location decision. The
candidate understands that high
unemployment and low incomes
should result in cheaper labour, and
this will reduce the production costs.
They could develop this further

by considering the impact on the
pricing of the yogurts.

@) The candidate provides a
counter argument to cheap labour
being a benefit of location X. They
suggest that there could be union
opposition and accusations of
exploitation resulting in damage
to the brand with a possible
consequence of discouraging
skilled workers from applying to
OV. Although it is not clear that
this would be likely, it is not an
unreasonable chain of argument
and is awarded Level 2 AO3.
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Example Candidate Responses — Paper 3

Examiner comments

o The candidate identifies another
benefit in context. They follow this
with good development of analysis
using multiple links in a chain of
reasoning. It is clearly a Level 2
analysis, but all AO3 marks have
been awarded so no further marks
are available. This highlights one of
the difficulties that candidates face
in structuring answers. With only two
analysis marks, answers should be
more focused on making supported
judgements and developed
evaluative comments which balance
key arguments in the business
context.

@ The candidate makes good use
of quantitative data to analyse the
risk of choosing location Y.

@ The candidate makes a
judgement, but as support is limited
to a list of points the presence

of context is insufficient to move
beyond Level 1 AO4. A better
judgement could develop which

of the stated factors is the most
important, for example, highlighting
the importance of accounting rate
of return (ARR) to a business with a
profit motive.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 2
Mark for AO4 = 1 out of 6
Mark for (b) = 7 out of 12

Total mark awarded = 10 out of 16

How the candidate could improve their answer
Candidates often provide long introductions which offer limited knowledge or just repeat the question. However,
this candidate got straight into the answer by identifying a factor in the first sentence which was quickly explained.

The answer remained firmly in context throughout, and several points demonstrated developed analysis. However,
with only 2 marks for AO3 available the candidate needed to be more focused on making developed evaluative

comments which balance key arguments in the business context.

The conclusion did not provide developed evaluation as it was just a list of contextual points supporting the

judgement that location Y was the better choice.
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Example Candidate Response — low

4 (a) Referto Table 1.3. Calcutate, for location X, the accounting rate of return (ARR).

2.

L

............................................................................................................................................. [4]
{b) Evaluate which location OV should choose to build its factory.
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Examiner comments

a The candidate crosses out the
first attempt at calculating the ARR.
This is not marked as an alternative
answer is offered.

9 The candidate does not state
an equation and the numbers used
do not relate to average profit or
average investment. No marks are
awarded for the answer or method.

Mark for (a) = 0 out of 4

@ The first paragraph does not
identify a factor in the decision.

o This sentence repeats data from
the text and there is only a limited
attempt to indicate relevance.

The comment that location X will
probably have ‘few customers’ could
be linked to the low income of the
location, so is sufficient for AO1 and
AO2.

e Other factors are identified

from the table, and it is implied

that the faster build time and lower
cost of location X are advantages

of choosing it as a location. These
points are sufficient for the other
AO1 and AO2 marks. The candidate
makes relevant points but does not
develop analysis linking cause and
effect.
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Example Candidate Responses — Paper 3

Examiner comments

Q The comments about location
Y taking longer to build and costing
more are the same points as stated
in the previous paragraph.

@ The relevance of capacity
utilisation is not explained. This
repetition of case information adds
no value to the answer.

@ The candidate makes a limited
attempt at balance by noting that
although location X lacks availability
of skilled workers they can be hired
and relocated. However, there is no
development as to why availability
of skilled workers is important.

© This is weak argument
suggesting that the factory will in
effect create its own demand in the
area. Overall, the answer remains at
Level 1 AO4.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 0 out of 2
Mark for AO4 = 1 out of 6
Mark for (b) = 5 out of 12

Total mark awarded = 5 out of 16

How the candidate could improve their answer

» The candidate did not develop any analysis of the multiple relevant factors identified. For example, in the second
paragraph the candidate identifies four different factors based on Table 1.2 but, although the candidate understood
the relevance of the factors, there was no attempt to build a chain of reasoning.

» The conclusion was sufficient for Level 1 AO4, but even though there was context there was no development of the

judgement.

Common mistakes and guidance for candidates

» To be awarded maximum marks, candidates needed to use the equation for the ARR as stated in the syllabus.
Many candidates did not calculate the average investment and therefore calculated ARR as 20 % and were

awarded 3 marks.

» The case provided a table of information which could be used as evidence when considering the two locations.
Candidates were often tempted to go through the table and systematically comment on each factor. This approach
would usually be awarded all AO1 and AO2 marks. However, there were only 2 marks for knowledge and 2 marks
for application, so it was not necessary to identify multiple factors in the decision. Candidates should be selective
in their choice of which factors to comment on, focusing on the most important issues. As half of the marks were for

evaluation, this should be the focus throughout the answer.

» With only two analysis marks, answers should be more focused on making supported judgements and developing

evaluative comments which balance key arguments in the business context.
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Question 5

Example Candidate Response — high Examiner comments

5 Evaluate the impact on OV of the growing importance of sustainability.

_Soshaeoliy ts oshen o besiess alos e gk etttally andh ...
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a Sustainability can be defined as
meeting the needs of the present
without compromising the ability

of future generations to meet their
needs. Identifying sustainability

as acting ethically to attract new
customers is insufficient to gain a
mark for AO1.

e The candidate links the growing
importance of sustainability to OV
benefiting from increasing sales
due to OV’s brand image as a
result of its mission statement.

This demonstrates knowledge of

a benefit in context with limited
analysis. The analysis is not
developed as there is only one link
in the reasoning.

e The rest of the paragraph is
descriptive, and the candidate
does not draw a link between OV
contributing some of its profits

to educational projects and
sustainability.

@ The answer shows an
understanding of how the negative
publicity from the newspaper article
is likely to impact sales, but this
remains at limited analysis.
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Example Candidate Response - high, continued Examiner comments

@ The candidate provides
balanced analysis in the conclusion
by contrasting the positive impact
of sustainability on OV’s reputation
relative to competitors who are not
2T 0wz onr. oherisses. . o0 N - \org oM RS qrevdive | as sustainable, with the negative

dengetioncls of . seshetoaliiby il Mol Amomue. OV 5. prend Impact of increased costs needed
. . to eliminate waste (Level 2 AO3). A
go(\t’scu\oLuef\fwcxﬂg/v\U@&“\fﬁ ...... x e—@@@‘\ié‘@‘“ov 2] term impact of sustainability linking

brand image to increased sales
and profits. Overall, this paragraph
shows developed evaluation which
is clearly in context.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 2
Mark for AO4 = 5 out of 6

Total mark awarded = 11 out of 12

How the candidate could improve their answer

Although the initial definition of sustainability was inaccurate, the candidate demonstrated understanding of the
term through subsequent comments.

This was a well-structured answer that provided a balance of arguments about the impact of the growing
importance of sustainability on OV. However, most of the analysis was limited to one link in the reasoning and it
was only in the final paragraph that more developed analysis was demonstrated.

The candidate could be more focused on the issue of sustainability as the answer included comment on OV’s
contribution of profits to educational projects without indicating how this linked to sustainability.

The candidate indicated that the final paragraph was the conclusion and then provided a supported judgement
which balanced the cost of being sustainable against the benefits. It was an effective conclusion, but they should
have provided more evaluative comment throughout the answer to be awarded marks at the top of Level 3.
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Example Candidate Response — middle Examiner comments

5 Evaluate the impact on OV of the growing importance of sustaxnabx[uty
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""""" it does not explain the impact of
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v D)ETQAW ? WMWCM&QW%@WPMW renewable energy are examples
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30..nasYe.... st{a.u w&M {guben m Wil oAl @{RQJ operations. They also show a
Aecten . \?{D% balanced understanding of the
-

impact on OV in terms of cost and

B, MUQQWL‘} LOAA80NAS QQW Q8papel / brand image leading to limited
SAgvealing. e Ak cfb' &)‘T&E Yegurt. Um[iuaam ... @ |analysis.

A easimonnon k. Brodudisn. U’g aud MTMM OUMLM) o The candidate refers to the
w Mg MN\%QQHNU\Q.“D% ........ fe,w ...... 0’3 MW ................ newspaper article to make a link to
detyiniontad C.H;{CES’M _____ oL .../ Mm cwwc the negative impact on OV’s image.

They are awarded all AO1 and AO2
b\ﬁjm 0d0. AeGuiteh. Use.. a’b' /bfw ool Lmdyﬁ [ marks.
LA gL Aud... 0dan. ealtes.. au.ow,gfb ..................................

.*{yamsiawz\ S tndaing Aaco. undalye o ol all ofs.
mge"»tmﬁs\m L0 A0 O %mxwawm»m
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A MMM L3 Tl decsease e d Qa,Qu e @ This is a good example of
...g%g.....o.v ....... datteade. . poefld aonrkafs. Ay aduo \sane | Whatis required for developed

analysis. There is a clear chain of
reasoning from the negative impact
on image to decreasing customer
loyalty decreasing overall sales and
resulting in lower profit. A second
chain is also presented which
considers the impact on labour
costs.
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Example Candidate Response — middle, continued Examiner comments

MMMMMWMQMQS%OMMM
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.. dustaindels... produtian. metluds... as. k.. can. make. @ | @ Asimple conclusion is
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........................................................................................................... [12] Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 2
Mark for AO4 = 1 out of 6

Total mark awarded = 7 out of 12

How the candidate could improve their answer

+ This was a well-structured answer which only lacked development of evaluative comment. There was a good
definition of sustainability followed by a balance of arguments highlighting the benefits and dangers to OV of the
growing importance of sustainability. However, the candidate did not make a judgement until the final paragraph
and, even then, it was rather brief providing only a simple statement which was awarded 1 mark.

» Candidates should be encouraged to develop their conclusions to provide explicit support for their judgement.
Evaluation should also be included in the main body of the answer as this makes for a better strategic response.
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Example Candidate Response — low

5 Evaluate the impact on OV of the growing importance of sustainability.
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Examiner comments

@ The candidate demonstrates
knowledge of sustainability as
related to the environment.

e The candidate identifies loss of
customers as an impact. They could
analyse this by commenting on the
impact on OV’s revenue.

e This provides further knowledge
of an impact which is applied
through reference to OV’s mission
centring on using sustainable
methods, such as not using
chemical pesticides.

@ The candidate shows further
knowledge of a potential impact,
but they need to add chains of
reasoning to be awarded more
marks.

e The cost of acting sustainably

is another impact on OV. This is
applied as reference is made to
finding alternatives to ‘Greek yogurt'.

@ An undeveloped evaluative
comment completes the answer.

Mark for AO1 = 2 out of 2
Mark for AO2 = 2 out of 2
Mark for AO3 = 0 out of 2
Mark for AO4 = 1 out of 6

Total mark awarded = 5 out of 12

How the candidate could improve their answer

» The answer provided multiple points of knowledge and application, but there were no chains of reasoning linking
cause and effect. The candidate structured their answer by making a point in context and immediately moving on to

the next point.

+ There was an expectation that candidates should be able to build chains of analysis centred on concepts such as

revenue and profit.
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Common mistakes and guidance for candidates

Candidates had a good understanding of sustainability, linking it to the impact of business activity on the
environment or how business activities should meet the needs of the present without compromising the ability of
future generations to meet their needs.

Many candidates provided a balanced argument presenting chains of reasoning, but these often lacked evaluative
comment. It was common for candidates to leave any evaluative comment until the final paragraph, and this was
likely to limit the award of AO4 to 5 marks.

Frequently, candidates devoted too much of their answer to analysing the impacts of sustainability on OV.

This means they then only had limited time to provide a simplistic conclusion, which offered no support for the
judgement being made. Candidates should be encouraged to weave evaluative comment throughout answers to
12-mark questions, as 6 of the marks were for evaluation.
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